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0 n 5'5 mlo =
TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (2,9,2)

1000

po

pusase e pL

A~ 1 nuiz,4uae+U6 / 18
4831+ 0.1
-42.66 + 0.00

TP delay

TVC(cbch) (29,6

1000

pD

prsese = p1

[ns]

- rnuz3z9e+06 / 18
4852+ 0.0
-43.65 + 0.00

TP delay

TVC(cbch) (2,910

pO

prsese = pL

[ns]

Trnuz131e+U6 /18
4829+ 0.0
-42.16 + 0.00

TP delay

TVC(cbch) (2,914

1000

pD

pusee pt

[ns]

Tz zzse+06 / 18
4856+ 0.1
-44.55+ 0.00

TP delay

[ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

po

— pL

AT 1 nuiz, 3o9e+U6 / 18
4807+ 0.0
-42.36 + 0.00

TP delay

TVC(c,b ch) (2 9,

[ns]

= z)dzeﬂ)ellﬁ
po 4907+ 0.1
e = pl -45.89 + 0.00
1 ] ==
50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T, 159e+u6/18
4843+ 0.1
-42.93+ 0.00

1
50 00

TP delay

TVC(c,b ch) (2, 9 15

[ns]

S z?be+\)6/ 18
po 4842+ 0.1
L pLl -43.69 0.00
- C = N
PR R | -.'
50 100
TP delay [ns]



4000
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4000

3000
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1000

4000

3000
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1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T rnuiz4r9e+U6 /18
pO 4853+ 0.1
-43.87 + 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (2, 10 4

-1 nuz,399e+06 / 18
4848+ 0.1
-42.7+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

T nuz, 339e+U6 / 18
po 4878+ 0.1
L. p1 -43.89 + 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (2, 10 12

T z.zoe+U6 /18
pO 4858+ 0.1
I pl -42.75+ 0.00

L n n n n 1
50 100

TP delay [ns]
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4000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

A1 nuiz.409e+U6 / 18
po 4825+ 0.0
Lo p1 -42.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

S U 3r8e+u6 / 18
po 4833+ 0.0
-41.82+ 0.00

50 150
TP delay [ns]

TVC(Ebeh)=(2, 10,9

Tinuizziie+u6 /18
pO 4861+ 0.1
-42.76 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 10 13

1 nuiz 3ube+u6 / 18
pO 4882+ 0.0
e -43.88 + 0.00

TP delay [ns]

4000
3000
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4000 foese =
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4000

3000
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1000

0

4000

3000

2000

TVC(CbCh) (2,10,2)

1000

A~ 11z, syoe+U6 / 18
po 4876+ 0.1
p1 -44.7+ 0.0

TP delay [ns]

TVC(Cbch) (2, 10 6

1000

- 1nu 315e+06 / 18
pO 4876+ 0.1
p1 -43.47 + 0.00

TP delay [ns]

TVC(cbch) (2,10, 10

Tz 147e+06 / 18
F po 4884+ 0.0
L p1 -43.63 + 0.00

TP delay [ns]

TVC(C b Ch) (2, 10 14

1000

Tz oe+U6 /18
b pD 4867+ 0.1
I pl -42.96 + 0.00

PR R R SR R |
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000
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1000

TVC(Cbch) (2,10,3)

x- 1 i yaze+U5 [ 18
po 4877+ 0.1
LoD pL -44.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

-y z51e+U6 / 18
pO 4854+ 0.1
L. pL -43.11 + 0.00

50 160
TP delay [ns]

TVC(ehch)=(2, 10, 11

T nuiz149e+U6 / 18
pO 4906 + 0.0
Lo p1 -44.71% 0.00

1
50 00

TP delay [ns]

TVC(cbch) (2, 10 15

T inuiz zoze+U6 /18
pO 4835+ 0.1
-41.55+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0
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1000

TVC(CbCh) (2,11,0)

K™ 1z 483e+U6 / 18
po 4859+ 0.1
= -43.45+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2, 11 4

- rnuiz41le+u6 /18
po 4838+ 0.1
e pl -42.29 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (211,8

Trnuzz/1e+06 /18
pO 4864+ 0.1
L. p1 44,17+ 0,00

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, 11 12

T rnuzz13e+U6 /18
pO 4851+ 0.0
b = pl -42.59 + 0.00

P R |
50 100

TP delay [ns]
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1000

4000
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1000

TVC(CbCh) (2, 11 1)

o 2.85e+U6 ] 18
pO 4868+ 0.1
L. pL -43.97 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

- U 3b3e+U6 / 18
pO 4855+ 0.0
e pL -43.31% 0.00

TP delay [ns]

TVC(eb.eh)=(2, 11, 9

T nuiz 1bae+u6 / 18
pO 4844+ 0.1
Lo p1 -43.04 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 11 13

Tinuizzz1e+U6 /18
pO 4848+ 0.0
b = pl -42.39+ 0.00

PR R SR |
50 100

TP delay [ns]
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TVC(CbCh) (2, 11 2)

1000

T rnuz.sy1e+U6 /18
3 pO 4872+ 0.0
L. p1 -44.05 + 0.00

TP delay [ns]

TVC(chh) (2, 11 6

1000

- 11Uz 345e+06 / 18
b pO 4861% 0.1
L p1 -43.47 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 10

T rnui112e+06 /18
3 po 4818+ 0.0
L. p1 -41.58 + 0.00

TP delay [ns]

TVC(C b Ch) (2,11, 14
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X~ 1wz 19ve+U6 / 18
b po 4869+ 0.0
T pl -43.45+ 0.00

TP delay [ns]
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ATz so/e+U6 /18
po 4859+ 0.0
L. p1 -43.49 + 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

S nunz2.zbe+u6 /18
pO 4849+ 0.0
e pL -43.13+ 0.00

TP delay [ns]

TVC(Ebeh=(2 11, 1

Tinuizl/ze+u6 /18
pO 4824+ 0.0
Lo p1 -42.02+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15

Tinuiz.zu/e+U6 /18
pO 4856+ 0.0
L p1 -42.93+ 0.00

PR R SR |
50 100

TP delay [ns]
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TVC(CbCh) (2, 12 0)

~ g, 50ze+U6 / 18
pO 4910+ 0.1
L p1 -45.46 + 0.00
-
1 1 "w
50 100
TP delay [ns]

TVC(Cbch) (2, 12 4

-1 nuz, 384e+06 / 18
4900+ 0.1
-44.1+ 0.0

0 50 00
TP delay [ns]
TVC(c,b, ch) (2.12,8)
T nusZe+U6 /18
po 4838+ 0.0
4000 (e p1 42,15+ 0.00
3000 - b
2000 - b
1000 C = N
% EY 00
TP delay [ns]
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3000

2000

1000

TVC(Cbch) (2, 12 12

T rnuizz47e+06 /18
4879+ 0.1
-43.44 + 0.00

P R |
50 100

TP delay
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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TVC(chh) (2,12,1)
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premm = Pl

X- 1 2. 4d5e+U6 | 18
4935+ 0.1
-46.57 + 0.00

TP delay

TVC(c,b Ch) (2, 12 5

[ns]

- U 348e+U6 / 18
4906 + 0.0
-44.44 % 0.00

pO
[roase = pl
- C = A
! 1 "
50 100
TP delay [ns]

TVC(c,b ch) (2, 12

T nuiz.zzZoe+u6 / 18
4851+ 0.1
-42.89+ 0.00

1
50 00

TP delay

TVC(c,b ch) (2, 12 13

[ns]

Tinuzzsie+u6 /18
4844+ 0.1
-41.96 + 0.00

PR R SR |
50 100

TP delay

[ns]

4000

3000

2000
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3000

2000

TVC(CbCh) (2,12,2)

1000

po

A~ 1 nuiz.442e+06 /18
4920+ 0.0
-45.52 + 0.00

L 1
L C =21.97 [ps/c ]
55 o
TP delay [ns]

TVC(Cbch) (2, 12 6

1000

pD

[Pease = p1

- 11Uz 340e+06 / 18
4906+ 0.0
-44.33 + 0.00

TP delay

TVC(cbch) (2,12,10

[ns]

S, Lu)e-wus /18

[ pO 4841+ 0.1

4000 e = pl -42.07 + 0.00
3000 — -
2000 — —
woo C = 23.77 [ps/ch 7

% EY 00

TP delay [ns]

4000

3000

2000

TVC(C b Ch) (2, 12 14

1000

Tz zsoe+U6 / 18
4873+ 0.1
-43.09 + 0.00

L n n n n 1
50 100

TP delay

[ns]
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1000

4000
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1000

TVC(Cbch) (2,12,3)

po

p1

A1z sobe+U6 / 18
4894+ 0.0
-44.4 + 0.0

TP delay

TVC(c,b Ch) (2, 12 7

[ns]

“rnuzz/1e+u6 /18
4937+ 0.0
-45.32 + 0.00

pO
[rmase = pl
FC = 1
0 1 -'-
50 100
TP delay [ns]

TVC(cbch) (212,11

pO
raeee = pL

T nuiz 150e+U6 / 18
4838+ 0.1
-42.04+ 0.00

TP delay

TVC(cbch) (2, 12 15

[ns]

T inuizzz3e+U6 /18
4845+ 0.1
-42.18 + 0.00

TP delay

[ns]



TVC(CbCh) (2, 13 0)

T 523e+U6 / 18
PO 4907+ 0.1
4000 e = -44.87 + 0.00
3000 - 4
2000 ]
1000 C = E
0 £ oo
TP delay [ns]
TVC(c,b ch) (2,13,4)
- 1 1ui.404e+U6 / 18
pO 4998+ 0.0
4000 e = pl -48.76 + 0.00
3000 ]
2000 - 4
woof- C = 20.51 [ps/C ]
0 50 00
TP delay [ns]
TVC(c,b, ch) (2, 13 8)
Tnu3r1e+U6 /18
pO 4867+ 0.1
4000 (o == pl -43.64 + 0.00
3000 - 4
2000 - 4
1000 C = =
% EY 00
TP delay [ns]
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3000

2000

1000

TVC(cbch) (2,13, 12

Trnuizz41e+06 /18
4871+ 0.0
-44.06 + 0.00

PR B SRS |
50 100

TP delay

[ns]
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1000
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1000

TVC(chh) (2,13,1)

po

) pL

A”1nuiz410e+U6 /18
4902+ 0.1
-44.34 + 0.00

TP delay

TVC(c, bch) (2,135

[ns]

~ 1 nu.438e+U6 / 18
4979+ 0.1
-47.99 + 0.00

TP delay

TVCEeDen)=(2, 13,9

pO

p1

[ns]

Tonun2.z3e+06 /18
4834+ 0.1
-41.8 £ 0.0

1
50 100

TP delay

TVC(cbch) (213,13

[ns]

T inuz zo3e+u6 / 18
4860+ 0.0
-43.35+ 0.00

TP delay

[ns]

4000
3000
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1000

TVC(CbCh) (2, 13 2)

pO

Trnuizgr1e+06 /18
4900+ 0.1
-44.4+ 0.0

pl

TP delay

TVC(cbch) (2,136

1000

pD

b pL

[ns]

- 1nuz.419e+06 / 18
4986+ 0.0
-48.05 + 0.00

TP delay

[ns]

TVC(cbch) (2,13,10)

~rnuz 19ze+U6 / 18

L DO 4846+ 0.1

4000 __— - pl -42.39+ 0.00
3000 :_ —:
2000 o m
woo- C = 23.59 [ps/ch 7

% EY 00

TP delay [ns]

4000

3000

2000

TVC(cbch) (2.13,14)

1000

pD

freese = pL

Trnuizzr1e+06 /18
4860+ 0.0
-43.22+ 0.00

PR IR SRR |
50 100

TP delay

[ns]
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1000
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1000

TVC(Cbch) (2,13,3)

po
—) pL

AT 1z sB1e+U6 /18
4907+ 0.0
-44.84 + 0.00

TP delay

TVC(c, bch) (2,137

[ns]

- U 348e+U6 / 18
4965+ 0.1
-47.29 + 0.00

po
[lnese e pl
FC = u
1 L=,
50 100
TP delay [ns]

TVC(eheh)=(2,13, 11

S nug; ub)e+u6/18
pO 4865+ 0.1
SR pl -43.53+ 0.00
'
-
_L L
50 100
TP delay [ns]

TVC(cbch) (2,13,15

T inuizyrae+U6 /18
4852+ 0.1
-42.92+ 0.00

PR I S S |
50 100

TP delay

[ns]



TVC(CbCh) (2, 14 0)

Tonuz31e+U6 /18
pO 4845+ 0.1
4000 e pl -43.46 + 0.00
3000 |- ]
2000 7]
1000 C = ]
0 £ oo
TP delay [ns]
TVC(c,b ch) (2, 14 4)
T rnuz.a3/e+06 /18
pO 4880+ 0.1
4000 Foummn p1 -44.93  0.00
3000 - ]
2000 - ]
oo C = 22.26 [ps/c ]
0 =0 oo
TP delay [ns]
TVC(c,b, ch) (2, 14 8)
T nusZ1e+U6 / 18
po 4903+ 0.1
4000 [ p1 -45.24 % 0.00
3000 - ]
2000 = ]
1000 C = 7
0y =0 o5
TP delay [ns]

4000

3000

2000

1000

TVC(Cbch) (2, 14 12

Tz zzze+06 /18
4841+ 0.1
-42.97 + 0.00

L n n n n 1
50 100

TP delay

[ns]
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1000

TVC(chh) (2,14,1)

po

prease = pL

AT 1 nuz,39ze+U6 / 18
4851+ 0.1
-43.76 + 0.00

TP delay

TVC(c,b Ch) (2, 14 5

[ns]

S U 3b/e+u6 / 18
4903+ 0.0
-45.3 + 0.0

50 00

TP delay

TVCEebeh)=(2, 14,9

[ns]

Tinuz1b/e+u6 /18
4891% 0.0
-44.74 + 0.00

TP delay

TVC(c,b ch) (2, 14 13

pO

p1

[ns]

T nuiz zobe+U6 / 18
4873+ 0.1
-44.7+ 0.0

TP delay

[ns]
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1000

1000

TVC(CbCh) (2,14,2)

po

A1z so1e+U6 /18
4842+ 0.1
-43.46 + 0.00

:—— - pL
- C =23.01 [ps/ch ]
4 T
TP delay [ns]

TVC(Cbch) (2, 14 6

pD

prsase = p1

T rnuz31/e+06 / 18
4872+ 0.1
-44.13 + 0.00

TP delay

TVC(cbch) (2.14,10

[ns]

T, 132e+us 118

[ DO 4888+ 0.1

4000 [ pl -44.49 + 0.00
3000 :— _:
2000 :— _:
w0 C = 22.48 [ps/ch ]

0 5(') 10'0

TP delay [ns]

4000

3000

2000

TVC(c,b Ch) (2, 14 14

1000

pD

T rnugzo3e+U6 / 18
4851+ 0.0
-43.63+ 0.00

£ p
- C = 22.92 [ps/ch ]
TP delay [ns]
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TVC(Cbch) (2,14,3)

po

— pL

AT 1 nuz,s20e+U6 / 18
4815+ 0.0
-42.08 + 0.00

TP delay

TVC(c,b Ch) (2, 14 7

pO

pomene = pL

[ns]

-1 nu 248e+U6 / 18
4859+ 0.1
-43.58 + 0.00

50 160
TP delay

TVC(ehch)=(2, 14, 11

[ns]

S nug, 151)e+u6/18
pO 4895+ 0.1
L. p1 -44.86 + 0.00
-
0 ™
50 00
TP delay [ns]

TVC(cbch) (2, 14 15

T nuiz 190e+U6 / 18
4837+ 0.0
-43.11 + 0.00

TP delay

[ns]
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1000

TVC(CbCh) (2, 15 0)

T rnugolie+u6 /18
pO 4858+ 0.1
-43.57 + 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (2, 15 4

-1, 345e+06 / 18
pO 4845+ 0.1
-43.25+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,15,8

_C:

T 3rze+06 /18
pO 4880+ 0.1
L. p1 -44.43 + 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (2, 15 12

T rnuizz47e+06 /18
po 4840+ 0.0
e = pl -42.46 + 0.00

L n n n n 1
50 100

TP delay [ns]
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TVC(chh) (2,15,1)

A1z 4805e+U6 / 18
po 4864+ 0.1
L. p1 -43.38 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

- nu 3zoe+U6 / 18
pO 4820+ 0.1
s we pL -42.01% 0.00

50 150
TP delay [ns]

TVC(ebeh)=(2 15,9

T inuiz.z43e+U6 / 18
po 4859+ 0.0
L. p1 -43.28+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 15 13

T inu zsge+u6 /18
pO 4821+ 0.1
-41.97 + 0.00

PR R SR |
50 100

TP delay [ns]
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2000

TVC(CbCh) (2,15,2)

1000

X~ 1wz 403e+U6 / 18
[ po 4865+ 0.1
L. p1 -43.39+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 6

1000

T nun2.35e+06 /18
b pO 4857+ 0.1
L. p1 -43.46 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

Tz Ze+06 /18
E po 4895+ 0.1
L p1 -44.71+ 0,00

TP delay [ns]

TVC(C b Ch) (2, 15 14

1000

T rnuzzs3e+U6 / 18
pD 4842+ 0.1
-42.55+ 0.00
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TP delay [ns]

TVC(c,b Ch) (2, 15 7

= 1nuz sloe+u6 / 18
po 4864+ 0.1
frsess s pl -43.61+ 0.00

50 160
TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuiz 1gbe+U6 / 18
pO 4846+ 0.1
p1 -42.6 + 0.0

1
50 00

TP delay [ns]

TVC(cbch) (2, 15 15

T inuizzsze+U6 /18
pO 4789+ 0.0
Peeese =0 -39.96 + 0.00

TP delay [ns]
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A1z bure+u6 /18
4929+ 0.0
-46.51+ 0.00

TP delay

TVC(cbch) (30,4

] -
50 100

[ns]

-1 nuz,438e+06 / 18
4921+ 0.1
-45.76 + 0.00

FC =

50 100
TP delay

TVC(cbch) (3 0,8

[ns]

T a3 roe+U6 /18
po 4788+ 0.0
4000 oy o p1 4119+ 0.00
3000 ]
2000~ b
1000 C = 7]
-
-
-
1 1
% 50 00
TP delay [ns]
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2000

1000

TVC(cbch) (3,0,12

Tz, 138e+U6 / 18
4861+ 0.1
-42.92+ 0.00

L n n n n 1
50 100

TP delay
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Tz, 184e+06 / 18
pO 4885+ 0.1
L = pl -42.92 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,1)

A1z 41ae+U6 ] 18
po 4899+ 0.1
L pL -43.56 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,5

“rnuz3y/e+u6 /18
pO 4907+ 0.1
-43.22+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (5 7,9

T nuiz.z3be+u6 / 18
pO 4886+ 0.1
L p1 -44.04 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 7 13

Tinuizz41e+U6 /18
pO 4917+ 0.1
-44.08 + 0.00

TP delay [ns]

4000

2000

4000

2000

4000

2000

1000

0

4000

2000

TVC(cbch) (5,7,2)

1000

X~ 1wz 4uve+U6 / 18
: po 4888+ 0.1
- p1 -42.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.7,6

1000

- Uz, 338e+06 / 18
b pO 4902+ 0.1
[ p1 -43.41% 0.00

3000

TP delay [ns]

TVC(cbch) (57,10

T 0/e+U6 /18
E po 4877+ 0.0
e o p1 -43.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

1000

Tz 1y /e+U6 /18
b pD 4909+ 0.0
[ = pl -43.55+ 0.00

3000

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3)

A 1wz 33ae+U6 / 18
po 4899+ 0.1
LD pL -43.23+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nu 330e+U6 / 18
pO 4897+ 0.1
L p1 -42.97 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

T, 151e+u6/18
pO 4855+ 0.1
-42.46 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 7 15

T 1nuiz.zzoe+U6 / 18
pO 4903+ 0.1
L p1 -43.62 + 0.00

C =22.93 [ps/ch

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,8,0)

A~ 1wz bz0e+U6 /18
po 4904+ 0.1
-44.54 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (58,4

- 1wz, 399e+06 / 18
po 4882+ 0.1
I pl -43.28 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5 8,8

T nu, 338e+U6 / 18
po 4878+ 0.0
- p1 -43.34+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (5,812

T 1z z94e+06 / 18
4849+ 0.1
-42.3+ 0.0

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.81)

o Zaveru6 | 18
pO 4894 + 0.0
L. pL -44.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

- 1 382e+06 / 18
pO 4867+ 0.1
-42.76 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (5 8,9

T nuiz.zyae+u6 / 18
po 4872+ 0.0
-43.05 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (5, 8 13

Tinus1ze+U6 /18
pO 4872+ 0.1
-43.65+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

4000

2000

1000

0

4000

2000

TVC(cbch) (5,8,2)

1000

A1z 351e+U6 /18
b po 4869+ 0.1
- p1 -42.93 + 0.00

3000

1000

F C =23.30 [ps/ch 7]
5(') 10'0
TP delay [ns]
TVC(cbch) (5 8,6)
Tanu o Z2.3e+06 /18
X pO 485I‘
e = pl -42+ 0.0

TP delay [ns]

TVC(cbch) (5,810

1 nuiz19p0e+U6 / 18
E po 4873+ 0.0
e p1 -43.05 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,814

1000

Tz z34e+06 / 18
b pD 4834+ 0.0
b = pl -41.44 + 0.00

3000

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.8,3

A1z z1oe+U6 / 18
po 4868+ 0.1
L. p1 -43.18+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- nu 323e+06 / 18
po 4878+ 0.0
- p1 -42.73+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 8

T, 19::e+u6/18
pO 4843+ 0.1
p1 -41.6 + 0.0

TP delay [ns]

TVC(c,b ch) (5, 8 15

T nuiz zsze+U6 /18
pO 4879+ 0.1
-43.48 + 0.00

TP delay [ns]



TVC(cbch) (5,9,0

4000

3000

2000

1000

X~ 1 nuiz419e+06 / 18
po 4810+ 0.1
L o Pl -40.19:+ 0.00

TP delay [ns]

TVC(cbch) (59,4

4000

3000

2000

1000

-1 352e+06 / 18
pO 4847+ 0.1
-40.73+ 0.00

TP delay [ns]

TVC(cbch) (5 9,8

4000

3000

2000

1000

0

T nuz,342e+06 / 18
pO 4804+ 0.1
L p1 -39.91+ 0.00

0

TP delay [ns]

TVC(Cbch) (5, 9 12

4000

3000

2000

1000

T zz/e+u6/18
pO 4872+ 0.1
I pl -42.25+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (59.1)

~row Zatevu6 /18
pO 4805+ 0.1
L pL -40.17 £ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

- U 340e+06 / 18
pO 4835+ 0.1
S pL -40.14 + 0.00

TP delay [ns]

TVC(c,b ch) (5 9,9

Tonuan Z.3e+06/18
po 4832+ 0.1
-41.39+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (5, 9 13

T inuiz z3be+u6 / 18
pO 4861+ 0.0
-41.66 + 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

4000

3000

2000

4000

2000

1000

0

4000

2000

TVC(cbch) (5,9,2)

1000

X~ 1nuig.s47e+U06 /18
[ po 4804+ 0.1
[ase = pl -39.82+ 0.00

3000

1000

FC=25.11 [ps/ch] “e._
5(') 10'0
TP delay [ns]
TVC(cbch) (5 9,6)
T nuz.412e+06 / 18
e = -42.21+ 0.00

TP delay [ns]

TVC(cbch) (5,910

T a1 pe+U6 / 18
b po 4804+ 0.0
I pl -39.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (59,14

1000

T rnuzzo1e+U6 /18
: pD 4896+ 0.0
[ = pl -43.17 + 0.00

3000

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,93

AT nuz,333e+U6 / 18
po 4809+ 0.0
— Pl -40.19: 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

-1 nui 3a8e+06 / 18
po 4860+ 0.1
I pl -41.33+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 9

T, 1uze+u6/18
pO 4805+ 0.1
-39.85+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 9 15

T nuiz z0se+U6 / 18
pO 4864+ 0.1
-41.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

~ 1 uiz400e+U6 / 18
4882+ 0.1
-43.95+ 0.00

- C = -
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (5, 10 4)
T nuz.410e+06 / 18
pO 4911+ 0.1
R -44.77 + 0.00
- C = -
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (5,10,8)
T rnuz.azze+06 /18
po 4900+ 0.1
I pl -44.37+ 0,00
- C = -
| 1 "
50 100
TP delay [ns]

TVC(Cbch) (5, 10 12

T 1z, zsve+U6 / 18
4857+ 0.0
-41.89+ 0.00

P R |
50 100

TP delay

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

po

fremse = pL

A1 nuiz4z9e+U6 /18
4886+ 0.1
-44.25+ 0.00

TP delay

TVC(c,b Ch) (5, 10 5

[ns]

- U 398e+u6 / 18
4897+ 0.1
-44.59 + 0.00

TP delay

TVC(eb.oh)=(5, 10,9

[ns]

- nuz 339e+U6 / 18
po 4937+ 0.1
L pL -46.28 + 0.00
-
1 1 e
50 100
TP delay [ns]

TVC(c,b ch) (5, 10 13

pO

p1

T 1 nuiz.zyae+u6 / 18
4902+ 0.0
-43.6 + 0.0

PR R SR |
50 100

TP delay

[ns]
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4000

3000

2000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (5,10,2)

1000

po

X1z 437e+U06 /18
4900+ 0.0
-44.67 + 0.00

esasa =a pl
F C =22.39 [ps/ch ]
+ o
TP delay [ns]

TVC(Cbch) (5, 10 6

1000

pO
frsese =a Pl

- rnuz391e+06 / 18
4921+ 0.0
-45.79 + 0.00

TP delay

TVC(cbch) (5, 10 10

- DO
frsase = pt

[ns]

T rnuzz(e+U6 /18
4917+ 0.0
-45.04 + 0.00

TP delay

TVC(CbCh) (5, 10 14

1000

pD

[rease = pL

[ns]

Tz zore+U6 /18
4885+ 0.1
-42.78 + 0.00

PR R R SR R |
50 100

TP delay

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

po
frmeme = pL

ATz s7ye+U6 [ 18
4877+ 0.1
-43.65+ 0.00

TP delay

TVC(c,b Ch) (5, 10 7

[ns]

- U 3bye+U6 / 18
4915+ 0.0
-45.11 + 0.00

po
fnese = pl
- C = 1
0 1 -'-
50 100
TP delay [ns]

TVC(Cbch) (5, 10 11

S nug, 1/1)e+u6/18
pO 4918+ 0.1
L p1 -45.21+ 0.00
-
0 ™
50 00
TP delay [ns]

TVC(cbch) (5, 10 15

T inuizzoe+U6 /18
4888+ 0.1
-42.98 + 0.00

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

TVC(CbCh) (5,11,0)

po

pl

A~ 1nuiza34e+06 / 18
4830+ 0.1
-42.5+ 0.0

1
50 100

TP delay [ns]
TVC(c,b ch) (5,11,4)
nu o zbe+06 /18
pO 4893+ 0.1
4000 s pl -44.32 + 0.00
3000 ]
2000 - —
1000 C = —
0 EY 00
TP delay [ns]
TVC(c,b, ch) (511,8)
T nu.4725e+06 / 18
pO 4865+ 0.1
4000 [ = -42.61+ 0.00
3000 - 4
2000 - —
1000 |- C = -
% EY 00
TP delay [ns]

4000

3000

2000

1000

TVC(c,b Ch) (5,11, 12

X~ 1 iz zyoe+U6 / 18
po 4843+ 0.1
T pl -42.05+ 0.00

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,1)

po

prease = pL

AT 1 nuz3y1e+U6 / 18
4832+ 0.0
-42.75+ 0.00

TP delay

TVC(c,b Ch) (5, 11 5

[ns]

-1 nu.454e+06 / 18
4905+ 0.1
-44.55 + 0.00

50 150
TP delay

TVC(cbch) (5, 11 9

[ns]

-1 Uz 38be+u6 / 18

po 4889+ 0.1

[ pL -43.28 + 0.00

-
-
1 1
50 100
TP delay [ns]

TVC(c,b ch) (5, 11 13

pO
—) pL

T nuiz zove+U6 / 18
4872+ 0.1
-43.31+ 0.00

PR R SR |
50 100

TP delay

[ns]

4000
3000

2000

4000

3000

2000

TVC(CbCh) (5,11, 2)

1000

po

pl

A1z s8e+U6 / 18
4852+ 0.0
-43.7+ 0.0

=

TP delay

TVC(chh) (5, 11 6

1000

pO
[ase wa Pt

[ns]

T3/ re+u6 / 18
4880+ 0.0
-43.88 + 0.00

TP delay

TVC(cbch) (5,11, 10

[ns]

T, ua)e+06 118

[ DO 4903+ 0.0

2000 faem o pl -44.46 + 0.00
3000 L 7
2000 o ]
w0 C = 22.49 [ps/ch ]

0 5(') 10'0

TP delay [ns]

4000

3000

2000

TVC(C b Ch) (5,11, 14

1000

X~ 1wz uzze+U6 /18
b po 4875+ 0.0
I pl -43.19+ 0.00

PR R R SR R |
50 100

TP delay

[ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,11,3)

po

pomene = pL

AT 1 nuiz,3ube+U6 / 18
4843+ 0.0
-43.29+ 0.00

TP delay

TVC(CbCh) (5, 11 7

pO
i pt

[ns]

- U 338e+U6 / 18
4878+ 0.1
-43.55+ 0.00

TP delay

TVCEDeN)=(5, 11, 11

[ns]

T nuizzz3e+u6 /18
4881+ 0.0
-43.16 + 0.00

1
50 00

TP delay

TVC(c,b Ch) (5, 11 15

pO
e = pL

[ns]

-1 nu zsae+U6 [ 18
4869+ 0.0
-43.18 + 0.00

TP delay

[ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

T rnuiz451e+U6 /18
pO 4858+ 0.1
-41.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.12,4

-1, 398e+06 / 18
pO 4859+ 0.1
-42.27+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 12 8

T rnuz341e+06 /18
PD 4856+ 0.1
L = pl -42.12 % 0.00

1
50 100

TP delay [ns]

TVC(cbch) (512,12

Tz zsse+U6 / 18
pO 4817+ 0.0
e o pl -41.04 + 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (5,12,1)

A~ nun 2.40e+U6 / 18
PO 4872+ 0.0
4000 s == pl -42.74 £ 0.00
3000 [ B
2000 [ B
1000 C = —
-
-
0, 1
50 100
TP delay [ns]

TVC(cbch) (5,125

- nu 38ze+U6 / 18
4875+ 0.1
2.71+ 0.00

pO
4000 s = pL -4
3000 - 1
2000 [~ 7
1000 C = -]
0 L g
50 00
TP delay [ns]

TVCEeDeh)=(5, 12,9

pO
4000 s = pL a

T nuz.zb3e+u6 / 18
4809+ 0.1
-40.31+ 0.00

3000

2000

woof- C = 24.81 [ps/ch]

TP delay

TVC(cbch) (512,13

[ns]

Tonanz.zoe+u6 /18
4835+ 0.1
-42+ 0.0

po
4000 s = pl
3000 - 7
2000 [ ]
1000 C ]
-
M B B
0 50 00

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

1000

TVC(CbCh) (5,12,2)

po

K71 nug syze+U6 /18
4905+ 0.1
-44.16 + 0.00

[ = pL
F C =22.65 [ps/ch ]
" A
TP delay [ns]

TVC(cbch) (5.12,6

pO
e = p1

-1 Uz 309e+06 / 18
4886+ 0.1
-43.44 + 0.00

TP delay

TVC(cbch) (5, 12 10

[ns]

: )

1z 13e+U6 /18

N DO 4832+ 0.1

4000 o p1 -41.03+ 0.00
3000 :_ _:
2000 :— _:
wool- C = 24.37 [ps/ch] 7

% =5 oo

TP delay [ns]

4000

3000

2000

TVC(cbch) (512,14

1000

pD

freese = pt

1 nuz zove+U6 / 18
4859+ 0.1
-43.08 + 0.00

PR IR SRR |
50 100

TP delay

[ns]
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4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

po
raeee = pL

AT 1z, suse+U6 /18
4893+ 0.1
-44.15+ 0.00

TP delay

TVC(c, bch) (5,127

po
Frecss = pL

[ns]

“nuzzy/e+u6 /18
4876+ 0.1
-42.69 + 0.00

TP delay

TVC(cbch) (512,11

pO
S pL

[ns]

Tinuz1b1e+u6 /18
4828+ 0.1
-40.94 + 0.00

TP delay

TVC(cbch) (512,15

pO

p1

[ns]

T nuiz zsye+u6 /18
4832+ 0.1
-41.8+ 0.0

TP delay

[ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 13 0)

Trnuiz43/e+U6 /18
pO 4876+ 0.0
-43.64 + 0.00

- C = -
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (5,13,4)
- 1 1uz,409e+06 / 18
pO 4893+ 0.1
e = pl -44.34  0.00

- C = N
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (5, 13,8 )
T rnuz351e+06 / 18
po 4878+ 0.0
I -42.99 + 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (5, 13 12

T rnuz.z45e+06 / 18
po 4870+ 0.1
-43.24+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5, 13 1)

- 1 i shoe+U6 | 18
pO 4873+ 0.1
L pL -43.55 £ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 5

-1 359e+U6 / 18
pO 4901+ 0.1
-44.38 + 0.00

50 150
TP delay [ns]

TVC(eb.oh)=(5, 13,9

T inuiz347e+06 / 18
po 4885+ 0.1
L p1 -43.48 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 13 13

T inuiz.z4ze+06 /18
pO 4860+ 0.1
-42.82+ 0.00

PR R SR |
50 100

TP delay [ns]
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2000

4000

3000

2000

4000

3000

2000

1000

0

4000

3000

2000

TVC(CbCh) (5,13,2)

1000

X~ 1z 410e+06 /18
3 po 4857+ 0.1
L. p1 4312+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 6

1000

Tnun2.34e+06 /18
b pO 4848+ 0.0
e pl -42.53 + 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T 1nuz148e+06 / 18
b po 4907+ 0.1
L p1 -44.68 + 0.00

TP delay [ns]

TVC(CbCh) (5, 13 14

1000

T zzoe+U6 /18
b pD 4869+ 0.1
- p1 -42.8+ 0.0

PR R R SR R |
50 100

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

X- 1 . s4ye+U6 | 18
po 4831+ 0.1
L pL -41.72  0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 7

S rnu3ze+u6 /18
pO 4864+ 0.0
LoD p1 -43.13+ 0.00

50 160
TP delay [ns]

TVC(Cbch) (5, 13 11

T nuiz 1bae+u6 / 18
pO 4881+ 0.0
L p1 -43.42 + 0.00

TP delay [ns]

TVC(cbch) (5, 13 15

Tonanz.zoe+u6 /18
pO 4890+ 0.1
-43.82+ 0.00

PR R SR |
50 100

TP delay [ns]



TVC(CbCh) (5, 14 0)

Tanuz4r2e+06 /18
PO 4895+ 0.1
4000 fmse -43.99 + 0.00
3000 - -
2000 -
1000 C = -
0 £ oo
TP delay [ns]
TVC(c,b ch) (5,14, 4)
-1 353e+U6 / 18
pO 4875+ 0.1
4000 [ -43.74 0.00
3000 - -
2000 - E
1000 C = 4
0 EY 00
TP delay [ns]
TVC(c,b, ch) (5,14,8)
© 1 nu, 355e+U6 / 18
pO 4858+ 0.1
4000 e = pl -43.02 + 0.00
3000 - 4
2000 - —
1000 C = -
% EY 00
TP delay [ns]
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3000

2000

1000

TVC(Cbch) (5, 14 12

T rnuzzore+U6 /18
4877+ 0.1
-43.11+ 0.00

L n n n n 1
50 100

TP delay

[ns]
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po

[rease =e pL

A1 nuiz.403e+U6 /18
4892+ 0.0
-44.03 + 0.00

TP delay

TVC(c,b Ch) (5, 14 5

[ns]

- U 3b3e+U6 / 18
4861+ 0.1
-43.63 + 0.00

TP delay

TVC(c, bch) (5, 14 9

[ns]

T nuiz.zoge+u6 / 18
4857+ 0.1
-42.76 + 0.00

1
50 00

TP delay

TVC(c,b ch) (5, 14 13

[ns]

T nuz zoye+u6 / 18
4898+ 0.1
-44.26 + 0.00

TP delay

[ns]
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3000

2000
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1000

TVC(CbCh) (5,14,2)

po

A~ 1nuiz 340e+06 / 18
4882+ 0.1
-43.13+ 0.00

e e pl
- C =23.18 [ps/ch ]
5(') 10'0
TP delay [ns]

TVC(Cbch) (5, 14 6

IRLCTIS

1000

pO
[ase wa Pt

3e+06 / 18
4880+ 0.1
-43.91+ 0.00

TP delay

TVC(cbch) (5,14, 10

[ns]

Tnug 1U2e+UG 118

L DO 4849+ 0.0

4000 __— - pl -42.47 + 0.00
3000 :— —:
2000 :— —:
woo- C = 23.54 [ps/ch 7

% EY 00

TP delay [ns]

4000

3000

2000

TVC(CbCh) (5, 14 14

1000

1 nuz zsve+U6 / 18
4861+ 0.1
-42.74 + 0.00

PR R R SR R |
50 100

TP delay

[ns]
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1000
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1000

TVC(Cbch) (5,14,3)

po
[eese s pL

AT 1 nuz,330e+U6 / 18
4903+ 0.1
-44.46 + 0.00

TP delay

TVC(c,b Ch) (5, 14 7

[ns]

-1 nu z8ae+u6 / 18
4852+ 0.0
-42.71+ 0.00

po
- pL
Le= ]
L L =
50 100
TP delay [ns]

TVC(e.beh)=(5, 14, 11

S, 15u)e+u6/18
pO 4861+ 0.1
L o pl -42.94 + 0.00
™
-
1 1
50 100
TP delay [ns]

TVC(cbch) (5, 14 15

T inuiz zoze+U6 /18
4870+ 0.1
-43.17 + 0.00

PR R SR |
50 100

TP delay

[ns]



TVC(CbCh) (5, 15 0)

T rnuiz4z9e+06 /18
pO 4897+ 0.1
-42.38+ 0.00

4000 e =
3000~ 4
2000 - 4
1000 C = 4
0 £ oo
TP delay [ns]
TVC(c,b ch) (5,15,4)
- 1nuz.434e+06 / 18
pO 4890+ 0.1
4000 s pl -44.23  0.00
3000 B
2000 - —
1000 C = —
0 EY 00
TP delay [ns]
TVC(c,b, ch) (5,15,8)
©1nuz,394e+U6 / 18
pO 4913+ 0.1
4000 fese = -45.23 + 0.00
3000 - 4
2000 - E
woor- C = 22.11 [ps/ch ]
% EY 00 =

TP delay [ns]

TVC(Cbch) (5, 15 12
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3000
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1000

Tz z4e+06 / 18
pO 4893+ 0.1
I pl -43.61+ 0.00

P R |
50 100
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TVC(chh) (5,15,1)

K™ 1 nuiz41ve+U6 /18
po 4875+ 0.1
[ o p1 -41.69 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 5

“nu3/9e+U6 / 18
po 4902+ 0.1
-44.88+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

T nun2.29e+06 /18
pO 4864+ 0.1
L p1 -42.93+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 15 13

T inuz.zsae+u6 /18
pO 4904+ 0.1
-44.04 + 0.00

TP delay [ns]
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4000
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1000

0

4000

3000
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TVC(CbCh) (5,15,2)

1000

X~ 1nuiz413e+06 /18
X po 4940+ 0.0
- p1 -44.48 + 0.00

TP delay [ns]

TVC(Cbch) (5, 15 6

1000

-1z 3o0e+U6 / 18
b pO 4896+ 0.0
L. p1 -44.51% 0.00

TP delay [ns]

TVC(cbch) (5,15, 10

T rnuz181e+U6 / 18
b po 4865+ 0.0
L p1 -42.79 + 0.00

TP delay [ns]

TVC(CbCh) (5, 15 14

1000

~1nuiz 198e+U6 / 18
r pD 4894+ 0.1
I pl -43.32+ 0.00

PR R R SR R |
50 100

TP delay [ns]
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TVC(Cbch) (5,15,3)

&A™ 1nuizuole+u6 / 18
po 4899+ 0.0
- p1 -42.59 + 0.00

TP delay [ns]

TVC(c,b Ch) (5, 15 7

-1 Uz 29se+U6 / 18
pO 4878+ 0.1
LoD p1 -43.55+ 0.00

TP delay [ns]

TVC(e.beh)=(5, 15, 11

T inuiLyz/e+u6 /18
4876+ 0.1
-43.2+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (5, 15 15

T nuiz.z00e+u6 / 18
pO 4867+ 0.1
-42.56 + 0.00

TP delay [ns]



4000

3000
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3000
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1000

4000

3000
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1000

0

4000

3000

2000

1000

TVC(cbch) (6,0,0)

A1z se+U6 /18
po 4820+ 0.1
-41.78 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

- 11z 49ae+06 / 18
pO 4826+ 0.1
L p1 4157+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

T z54e+06 /18
pO 4862+ 0.1
L. p1 -43.86 + 0.00

1
50 00

TP delay [ns]

TVC(Cbch) (6, O 12

Tz s11e+u6 /18
pO 4853+ 0.1
T pl -42.74 + 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

X155 e+U6 /18
po 4866 + 0.1
L. pL -43.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- U b38e+u6 / 18
po 4869+ 0.0
-43.45 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

T nuzbyle+u6 / 18
pO 4876+ 0.0
-44.38 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

1 nuiz syve+u6 / 18
pO 4864+ 0.1
-43.29+ 0.00

TP delay [ns]

4000
3000

2000

4000
3000

2000

4000
3000
2000

1000

0

4000

2000

TVC(cbch) (6,0,2)

1000

A~ 1z 530e+U6 /18
po 4846+ 0.0
p1 427+ 0.0

1000

TP delay [ns]
TVC(cbch) (6 0,6)
~ U 5u3e+U6 / 18
pO 4880+ 0.0
e = pl -43.67 + 0.00

TP delay [ns]

TVC(cbch) (6,0,10

1 nuz,348e+06 / 18
4852+ 0.1
-43.2+ 0.0

TP delay [ns]

TVC(cbch) (6,0,14

1000

1 nuiz, 39pe+U6 / 18
b pD 4853+ 0.1
T pl -42.69 + 0.00

3000

PR R R SR R |
50 100

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1 nuz.430e+U6 / 18
po 4854+ 0.1
Lo p1 -43.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

T 2.3be+U6 /18
pO 4846+ 0.1
L. p1 42,17+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O

T zme+u6/18
pO 4844+ 0.0
= -42.86 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, O 15

T 1nuiz s30e+U6 / 18
pO 4875+ 0.0
-43.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,1,0)

_C:

X~ 1nuig4/3e+U6 /18
po 4872+ 0.1
-44.96 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.1,4

- 1z, 402e+06 / 18
pO 4805+ 0.0
L. p1 41,49+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 18

Tz 3z4e+06 / 18
pO 4821+ 0.1
L. p1 -41.79 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (61,12

1z z9ve+U6 / 18
po 4828+ 0.1
-42.98 + 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

A1 nuiz4z0e+U6 /18
po 4890+ 0.1
L. pl -45.45+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

-1 U 458e+U6 / 18
pO 4823+ 0.1
-42.92+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 1,9

T nu.zgge+u6 / 18
po 4829+ 0.1
-41.73+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

Tinuiz.zg/e+u6 /18
pO 4822+ 0.1
-42.76 + 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

4000

2000

4000

2000

1000

0

4000

3000

2000

TVC(cbch) (6,1,2)

1000

A1z, 3roe+U6 /18
b po 4909+ 0.1
£ o p1 -45.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

1000

- Uz, 380e+U6 / 18
b pO 4852+ 0.0
L. p1 -43.65 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,1,10

T a1y /e+U6 /18
b po 4845+ 0.1
L p1 -42.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

1000

T rnuizz91e+U6 /18
pD 4815+ 0.1
-42.27 + 0.00

PR R R SR R |
50 100

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A7 1 nuiLBove+U6 / 18
po 4881+ 0.0
E D p1 -45.21% 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- 1nu3nle+u6 / 18
pO 4815+ 0.0
£ p1 -41.99 + 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T, 15ue+u6/18
pO 4847+ 0.1
-42.39+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

Tinuizzrse+u6 /18
po 4821+ 0.0
L p1 -42.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,2,0)

_C:

A1z n18e+U6 /18
po 4919+ 0.1
-45.73+ 0.00

50 100

TP delay [ns]

TVC(cbch) (62,4

T3y /e+06 / 18
pO 4876+ 0.1
-43.54+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 2,8

©1nuiz.4z0e+06 / 18
pO 4870+ 0.0
L p1 -42.52 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6,2, 12

1z z9ve+U6 / 18
po 4832+ 0.1
e pl -42.08 + 0.00

L n n n n 1
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1)

A1z 400e+U6 / 18
po 4886+ 0.1
pl -43.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

= 11Uz 4u0e+06 / 18
pO 4888+ 0.0
-43.89+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 2, 9

Tonun2.34e+06 /18
po 4918+ 0.0
p1 -44.6 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

Tonazze+u6 /18
pO 4882+ 0.1
e = pl -44.05 + 0.00

TP delay [ns]

4000

2000

4000

2000

4000

2000

1000

0

4000

2000

TVC(cbch) (6,2,2)

1000

A 1nuizzule+U6 /18
[ po 4867+ 0.1
L. p1 -43.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (62,6

1000

- Uz 332e+06 / 18
b pO 4880+ 0.0
- p1 -43.21+ 0.00

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

© 1 nuz,189e+U6 / 18
E po 4888+ 0.1
- p1 -43.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

1000

Trnuizzy/e+U6 /18
b pD 4855+ 0.1
I pl -42.65+ 0.00

3000

PR R R SR R |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

AT 1 nuz.430e+U6 / 18
po 4889+ 0.1
LoD p1 -44.31% 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

= nu2 oe+u6 / 18
po 4889+ 0.1
L p1 -43.63+ 0.00

TP delay [ns]

TVC(e.heh)=(6, 2,

T, ibbe+U6/18
pO 4908+ 0.0
L p1 -44.18 + 0,00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 2 15

- iz 294e+U6 | 18
pO 4874+ 0.0
-43.08:+ 0.00

PR R SR |
50 100

TP delay [ns]



TVC(cbch) (6,3,0

4000

3000

2000

1000

A~ 1wz nize+U6/ 18
po 4901+ 0.1
L. p1 -44.87 + 0.00

TP delay [ns]

TVC(cbch) (63,4

4000

3000

2000

1000

FC =

U4 ze+U6 /18
po 4937+ 0.0
b = pl -45.68 + 0.00

50 100
TP delay [ns]

TVC(cbch) (6 3,8

4000

3000

2000

1000

0

©1nuiz.4z9e+06 / 18
po 4899+ 0.1
L p1 -43.69 + 0.00

0

TP delay [ns]

TVC(cbch) (6,312

4000

3000

2000

1000

T 1z z49e+06 / 18
pO 4859+ 0.1
I pl -42.94 + 0.00

L n n n n 1
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

A7 1 nuz,500e+U6 / 18
po 4908+ 0.1
Lo p1 -45.11 + 0.00

_C:

TP delay [ns]

TVC(c,b ch) (6 3,5

- 1nuz.4z8e+U6 / 18
pO 4910 0.0
-44.29 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

T nuiz.z40e+U6 / 18
po 4870+ 0.1
-42.61+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

Tinuizzrze+u6 /18
pO 4841+ 0.1
-42.23+ 0.00

PR R SR |
50 100

TP delay [ns]
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3000

2000

4000

3000

2000

1000

0

4000

3000

2000

TVC(cbch) (6,3,2)

1000

AT 1wz zi1e+06 /18
X po 4901+ 0.0
Lo p1 44,72+ 0.00

TP delay [ns]

TVC(cbch) (63,6

1000

-1 Uz 345e+06 / 18
b pO 4892+ 0.1
L p1 -43.74+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 3, 10

T rnuz147e+06 /18
E po 4882+ 0.1
e o p1 -42.87 + 0.00

TP delay [ns]

TVC(cbch) (6,3 14

1000

1 a2 z9ve+U6 / 18
3 pD 4871+ 0.0
e -43.62+ 0.00

TP delay [ns]
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1000
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1000

4000
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TVC(cbch) (6,3,3

AT 1 nuiz, Sooe+U6 / 18
po 4875+ 0.0
L pl -43.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

1 nu 3z3e+06 / 18
po 4889+ 0.1
L p1 -43.17 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 3

AN us/e+u6/18
pO 4875+ 0.1
p1 42,9+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 3 15

T nuiz zoge+u6 / 18
pO 4878+ 0.0
e -43.77 + 0.00

PR R SR |
50 100

TP delay [ns]



TVC(cbch) (6,4,0)

4000 jese =

3000 [~ p
2000 - p
1000 C = ]

-
-
1 1
0 50 100

X~ 1wz 5z4e+06 / 18
po 4896+ 0.0
-44.08 + 0.00

TP delay [ns]

TVC(cbch) (64,4

4000

3000

2000

1000

- 1nuiz419e+U6 / 18
po 4827+ 0.0
ke = pl -41.46 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 4,8

1 nuiz.4u0e+U6 / 18
pO 4845+ 0.1
Lo p1 -43.11+ 0,00

4000 &
3000~ 7]
2000~ T
wool- C = 23.20 [ps/ch ]
% EY 00 =
TP delay [ns]
TVC(cbch) (6,4,12)
Tanuzzrse+U6 /18
pO 4817+ 0.1
4000 fomuse = -40.44 + 0.00
3000 N
2000 |~ N
o C =24.73 [ps/ch] . 7]
O = o

TP delay [ns]
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1000
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1000

TVC(cbch) (6,4,1

AT 1 nuizo25e+U6 / 18
po 4870+ 0.1
L. p1 -43.49 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

~1nuz.4z1e+06 /18
pO 4843+ 0.1
-42.42+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 4,9

Tonun2.31e+u6 /18
pO 4835+ 0.1
p1 -42.4 % 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

T 1 nuiz.z90e+U6 / 18
pO 4846+ 0.1
p1 -41.9+ 0.0

PR R SR |
50 100

TP delay [ns]
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2000

1000

0

4000

2000

TVC(cbch) (6,4,2)

1000

K~ 1nuig5zae+06 / 18
po 4889+ 0.1
p1 -44.18+ 0.00

TP delay [ns]

TVC(cbch) (64,6

1000

- Uz, 393e+06 / 18
4847+ 0.1
-42.9+ 0.0

TP delay [ns]

TVC(cbch) (6, 4,10

T rnuiz.z11e+u6 /18
b po 4835+ 0.0
L. p1 -41.69 + 0.00

3000

TP delay [ns]

TVC(cbch) (64,14

1000

T 1nuz3u1e+U6 /18
b pD 4836+ 0.0
I pl -40.72 + 0.00

3000

TP delay [ns]
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1000
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1000

4000

3000
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1000

TVC(cbch) (6,4,3

R~ 1 nui43ae+06 [ 18
po 4882+ 0.0
L. pL -43.54  0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

- nu 323e+06 / 18
po 4835+ 0.0
frsess s pl -42.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

AN u/ue+u6/18
pO 4804+ 0.0
L o p1 -40.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 4 15

Tinuzs3/e+U6 /18
pO 4852+ 0.0
p1 -41.8+ 0.0

TP delay [ns]



TVC(cbch) (6,5,0)

A

1z, 502e+U6 / 18
Y 4891+ 0.1
4000 e = -43.69+ 0.00
3000 [~ E
2000 - E
1000 C = E
-
-
1 1
0 50 T00

TP delay [ns]

TVC(cbch) (6,54

4000

3000

2000

1000

- rnuz 135e+06 / 18
pO 4829+ 0.1
—) pl -41.38+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

Tnug 2/be+06 118
PD 4868+ 0.1
4000 [ = -43.29 + 0.00
3000~ 1
2000~ -1
woor C = 23.10 [ps/ch ]
-
-
0, 1 1
0 50 100

TP delay [ns]

TVC(cbch) (6,5,12

Tinuzur4e+U6 /18
PO 4867+ 0.1
4000 [ = pl -42.93+ 0.00
3000 [~ 4
2000 - E
1000 C = N
-
-
-
n 1 n n n n 1 n
0 50 T00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51)

pO

rass = pl

“ o z.44e+06 / 18
4887+ 0.1
-43.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

“nuz4l1/e+u6 /18
pO 4825+ 0.1
-41.29+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

~nun z.30e+u6 /18
DO 4843+ 0.0
] -42.49+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,5,13

T 1 nuiz zobe+u6 / 18
pO 4883+ 0.0
-43.41+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

3000

2000

4000
3000

2000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (6,52)

X~ 1z 439e+U6 / 18
L po 4910+ 0.1
— pl -44.37+ 0.00
F C =22.54 [ps/ch ]

-
-
1 1
50 100

TP delay [ns]

TVC(cbch) (6,56

1000

-1 Uz 395e+06 / 18
4829+ 0.1
-41.3+ 0.0

TP delay [ns]

TVC(cbch) (6, 5 10

T, zz9e+U6 /18
[ DO 4849+ 0.1
i pl -42.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

1000

T 1nuzs14e+06 /18
F pD 4855+ 0.1
Pese ne pl -42.44 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

po
[rsees =0 pl

AT rnuz4n1e+U6 /18
4866+ 0.1
-42.39+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- U 393e+U6 / 18
PO 48441 0.0
s w0 pL -42.38  0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T, 1/ue+u6/18
pO 4842+ 0.1
] -42.41+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T inuz 31ye+U6 / 18
PO 4882+ 0.0
-43.562+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (6,6,0)

X~ 1z 4/0e+06 / 18
Y 4873+ 0.1
—) pl -43.2+ 0.0
- C -
1 1 "
50 100
TP delay [ns]
TVC(cbch) (6.6,4)
- 11Uz, 440e+06 / 18
pO 4839+ 0.1
—k) pl -42.59+ 0.00
Fc = 3
1 1
50 100
TP delay [ns]

TVC(cbch) (6 6,8

T nuz,383e+U6 / 18
4866+ 0.0
-43.1+ 0.0

1000 B
-'-
% EY 00
TP delay [ns]
TVC(cbch) (6,6,12)
Tanuzzyre+U6 /18
pO 4871+ 0.1
4000 [ - -43.13+ 0.00
3000 -
2000 = -
1000 C = N
0 g ——
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

po

A1z 403e+U6 /18
4890+ 0.1
-43.7 £ 0.0

pl

1
100

TP delay [ns]

TVC(c,b ch) (6 6,5

“rnuz3y/e+u6 /18
4877+ 0.1
-44.02 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 6,9

- nuz 31ye+u6 / 18

po 4852+ 0.1

I pL -41.82 + 0.00

-
-
-
1 1
50 100
TP delay [ns]

TVC(c,b Ch) (6, 6 13

T nuiz zoye+u6 / 18
4853+ 0.1
-42.85+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000
3000

2000

4000

3000

2000

1000

1000

1000

0

TVC(cbch) (6,6,2)

po

X~ 1z 452e+06 /18
4878+ 0.1
-43.24 + 0.00

ase e pl
L C = 23.13 [ps/ch ]
5(') 10'0
TP delay [ns]
TVC(cbch) (6,66) _
~ 1 nuz 401e+06 / 18
_—_ - pl -43.02 + 0.00
- C = 23.25 [ps/ch ]
5(') 10'0
TP delay [ns]

TVC(cbch) (6,6,10

pO

pl

1 nuiz198e+U6 / 18
4873+ 0.1
-43+ 0.0

TP delay

TVC(C b Ch) (6, 6 14

1000

pD

prsese = pL

[ns]

T z.29e+U6 /18
4855+ 0.1
-42.75+ 0.00

PR R R SR R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.6,3)

pO
[lnese e pL

Tz, spe+u6 /18
4877+ 0.0
-43.03+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 6,7

pO

pomene = pL

- nu 3zoe+U6 / 18
4853+ 0.1
-43.34 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6

T zz::e+u6/18
4857+ 0.1
-42.08 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6 15

T inuizzg/e+u6 /18
4881+ 0.0
-43.55+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

A1z n13e+U6 /18
4872+ 0.0
-43.34+ 0.00

1
50 100

TP delay

TVC(cbch) (67,4

[ns]

=g, 2449+U& 118
pO 4852+ 0.0
I pl -42.24 + 0.00
- C = N
1 1
50 100
TP delay [ns]

TVC(cbch) (6 7,8

©nu, 339e+U6 / 18
pD 4856+ 0.0
4000 e & p1 -43.41 0,00
3000 7]
2000~ 7]
1000 C = 7]
-
-
1 L ”
05 B0 00
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (6,7,12

po
Feasa ua pL

1z zode+U6 / 18
4891+ 0.0
-43.73+ 0.00

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

po
froase = pL

A1 nuiz439e+U6 /18
4899+ 0.0
-44.62 + 0.00

TP delay

TVC(c,b ch) (6 7,5

[ns]

- U 3yse+u6 / 18
4867+ 0.0
-42.86 + 0.00

50 150
TP delay

TVC(c,b ch) (6 7,9

[ns]

T nuz 3u3e+U6 / 18
4859 0.0
-43.68 + 0.00

TP delay

TVC(c,b Ch) (6, 7 13

[ns]

T nuiz 3ube+u6 / 18
4908+ 0.1
-44.78 + 0.00

TP delay

[ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

1000

po

[ease = pL

X~ 1z 419e+U6 / 18
4893+ 0.1
-44.04 + 0.00

TP delay

TVC(cbch) (67,6

1000

[ po
— pt

[ns]

- Uz, 339e+06 / 18
4854+ 0.1
-42.32 + 0.00

TP delay

TVC(cbch) (6,7,10

1000

pO

il pt

[ns]

~1nuz155e+06 / 18
4872+ 0.0
-44.22 + 0.00

0

TP delay

TVC(cbch) (6,7,14

1000

pD
fesase =e pt

[ns]

1 nuz zove+U6 / 18
4894+ 0.0
-43.88 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3)

po

pl

AT 1 nuz,320e+U6 / 18
4866+ 0.1
-43+ 0.0

TP delay

TVC(c,b ch) (6 7,7

pU
S pL

[ns]

- U Zgse+u6 / 18
4833+ 0.1
-41.59 + 0.00

TP delay

TVC(c,b ch) (6, 7

[ns]

T, ibée+l}6/18
4883+ 0.0
-44.63+ 0.00

1
50 00

TP delay

TVC(c,b ch) (6, 7 15

[ns]

-1 nu z3ae+U6 / 18
4902+ 0.1
-44.07 + 0.00

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,8,0)

po

X~ 1nuiz441e+06 /18
4855+ 0.0
-42.64 + 0.00

frnase = pl
- C = -
1 1 3
50 100
TP delay [ns]
TVC(cbch) (6.8,4)
- 1nuz.430e+06 / 18
pO 4999+ 0.1
—_— pl -47.32+ 0.00
FC = 4
1 1%
50 100

TP delay [ns]

TVC(cbch) (6 8,8

T nuz 313e+U6 / 18
4850+ 0.0
-42.4 + 0.0

1
50 00

TP delay [ns]

TVC(cbch) (6,812

1 nuiL450e+U6 / 18
po 4857+ 0.1
T pl -42.94 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,1)

po

—) pL

A1z 3ase+U6 ] 18
4846 + 0.0
-42.35+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,5

“nun z.45e+06 /18
4967+ 0.1
-45.96 + 0.00

LCc=

50 100
TP delay [ns]

TVC(c,b ch) (6 8,9

T nuiz.zyne+u6 / 18
pO 4837+ 0.1
-41.68 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

Tinai53e+U6 / 18
pO 4870+ 0.0
-43.32+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000

2000

4000

2000

1000

0

4000

2000

1000

1000

TVC(cbch) (6.8,2)

Srnun z.30e+uU6 /18
L PO 4860+ 0.0
_I— - pl -42.58 + 0.00
F C =23.48 [ps/ch ]
1 1 3
50 100
TP delay [ns]

TVC(cbch) (68,6

T rnu38e+06 / 18
4967+ 0.1
-46.3+ 0.0

TP delay [ns]

TVC(cbch) (6,8 10

© 1 nuiz19ze+06 / 18
b po 4853+ 0.1
e o p1 42,17+ 0,00

3000

TP delay [ns]

TVC(cbch) (6,8, 14

1000

1z zooe+U6 / 18
b pD 4839+ 0.1
e = pl -41.78 + 0.00

3000

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

A1 3a4e+U6 ] 18
4870+ 0.0
-43.38+ 0.00

frmene = pL
I C =23.05[ps/ch ]
50 160
TP delay [ns]

TVC(c,b ch) (6 8,7

-1 nu 2y8e+U6 / 18
4965+ 0.1
-45.8 + 0.0

50 160
TP delay [ns]

TVC(c,b ch) (6, 8

T, 1//e+u6/18
pO 4846+ 0.0
e p1 -41.78 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 8 15

Tonanz.zze+u6 /18
pO 4843+ 0.0
p1 -42.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,9,0)

A1z nsre+U6 /18
po 4925+ 0.0
-44.85+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (69,4

- LB /e+U6 / 18
pO 4893+ 0.1
- p1 42,64+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 9,8

©1nuz,349e+06 / 18
PD 4859+ 0.1
L p1 -42.44+ 0,00

- C = =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (6,9.12)
T z3se+U6 / 18
po 4836+ 0.0
R -41.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,91

A1z 4rae+U6 ] 18
po 4900 + 0.0
L pL -43.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

- 1. 300e+U6 / 18
pO 4901+ 0.1
-43.35+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 9,9

T nuz349e+U6 / 18
po 4877+ 0.1
Lo p1 -43.34+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 9 13

Tinuizzrse+u6 /18
pO 4863+ 0.0
-42.54+ 0.00

PR R SR |
50 100

TP delay [ns]

4000 e =

3000

2000

4000

2000

4000

2000

1000

0

4000

2000

TVC(cbch) (6,9,2)

1000

X~ 1z 4y1e+U6 /18
po 4951+ 0.0
p1 -45.92+ 0.00

TP delay [ns]

TVC(cbch) (69,6

1000

- Uz 3p2e+06 / 18
: pO 4907+ 0.1
- p1 -43.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,910

Tz ze+U6 /18
b po 4871+ 0.1
- p1 -43.22 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

Trnuzz3e+U6 /18
b pD 4894+ 0.1
I pl -44.09 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT 1 nuz418e+U6 / 18
po 4933+ 0.1
LoD pl -45.14 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

=1 nuiz3u4e+u6 / 18
po 4929+ 0.1
Lo pl -44.33 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (6, 9

T, ib/e+U6/18
pO 4880+ 0.1
-43.29 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 9 15

T inuiz zoze+U6 /18
pO 4903+ 0.0
L p1 -44.03 + 0.00

PR R SR |
50 100

TP delay [ns]



TVC(CbCh) (6, 10 0)

~nuz4o2e+U6 / 18
PO 4874+ 0.1
4000 e = pl -43.42:+ 0.00
3000 - —
2000 - —
1000 C = E
0 £ oo
TP delay [ns]
TVC(c,b ch) (6,10,4)
- 11UR.479e+U6 /18
pO 4908 0.1
4000 [se pl -44.81% 0.00
3000 ]
2000 - ]
woo- C = 22.32 [ps/c ]
0 EY 00
TP delay [ns]
TVC(c,b, ch) (6.10,8)
©1nu 3ple+u6 / 18
pO 4892+ 0.1
4000 s - pl -44.75 + 0.00
3000 - 4
2000 - —
wool- C = 22.34 [ps/c ]
% EY oo
TP delay [ns]

4000

3000

2000

1000

TVC(c,b ch) (6, 10 12

1z zose+u6 / 18
4847+ 0.1
-42.56 + 0.00

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,10,1)

po

A1 nuizazze+06 /18
4885+ 0.1
-44 + 0.0

pl

TP delay

TVC(c,b Ch) (6, 10 5

[ns]

- 1nuz.431e+06 / 18
4893+ 0.1
-44.07 + 0.00

TP delay

TVC(eb.oh)=(6, 10,9

[ns]

- nuz 339e+U6 / 18

po 4856+ 0.0

L. pL -43.27 + 0.00

-
-
-
1 1
50 100
TP delay [ns]

TVC(c,b ch) (6, 10 13

T nuiz.zobe+u6 / 18
4846+ 0.1
-42.56 + 0.00

PR R SR |
50 100

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

1000

TVC(CbCh) (6,10,2)

po

K™ 1nuig s42e+06 /18
4886+ 0.1
-44.06 + 0.00

fesase =a pl
F C = 22.70 [ps/ch ]
53 i
TP delay [ns]

TVC(c,b ch) (6, 10 6

pO
ase ue Pl

-1 nuz z85e+U6 / 18
4907+ 0.1
-44.68 + 0.00

TP delay

TVC(cbch) (6,10, 10

[ns]

T, 442e+us 118

[ DO 4885+ 0.1

4000 fom pl -44.34 + 0.00
3000 :— _:
2000 :— _:
wool- C = 22.55 [ps/ch ]

0 5(') 10'0

TP delay [ns]

4000

3000

2000

TVC(C b Ch) (6, 10 14

1000

Tz oe+U6 / 18
4857+ 0.0
-42.66 + 0.00

- DD
p— = =
FC =234 ]
et
TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

po

prmene =a pL

AT 1 nuiz,s52e+U6 / 18
4896+ 0.1
-44.96 + 0.00

TP delay

TVC(c,b Ch) (6, 10 7

po

[ns]

S nu3oe+U6 / 18
4894+ 0.1
-44.08 + 0.00

50 160
TP delay

TVC(Cbch) (6, 10 11

[ns]

S nug, mu)e+u6/18
pO 4886+ 0.1
L. p1 -44.37 + 0.00
-
-
"l L=
50 100
TP delay [ns]

TVC(cbch) (6, 10 15

pO

p1

T nui psze+U6 /18
4865+ 0.1
-43+ 0.0

PR R SR |
50 100

TP delay

[ns]



TVC(CbCh) (6,11,0)

A~ 1wz buse+U6 /18

po 4904+ 0.1
4000 frmese = -43.14  0.00
3000 [ 7]
2000 7]
1000 C = ]

-
-
1 1
0 G 100

TP delay [ns]

TVC(cbch) (6, 11 4

3000 [~

2000 [~

1000 [~

- iUz 398e+U6 / 18
po 4858+ 0.0
4000 e pl -44.02 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 11 8

4000

3000

2000

1000

0

1 nuz, 38pe+U6 / 18
4887+ 0.0
-43.5+ 0.0

0

TP delay [ns]

TVC(c,b Ch) (6,11, 12

3000

2000 =

1000 [~

X~ 1z za/e+U6 /18
po 4865+ 0.1
4000 e = pl -42.04 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,1)

AT 1 nuiz529e+U6 / 18
po 4890+ 0.1
L p1 -42.24+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 5

- nu 313e+U6 / 18
pO 4884+ 0.0
-45.08+ 0.00

C=

50 100
TP delay [ns]

TVC(c,b ch) (6, 11

- Uiz.41oe+U6 / 18
pO 4834+ 0.0
-41.61+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 11 13

T nuiz zsae+U6 / 18
pO 4865+ 0.0
—_— pl -41.83+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

0

4000
3000

2000

TVC(CbCh) (6,11, 2)

1000

A~ 1 nuiz49ae+06 / 18
b po 4921+ 0.1
[ p1 -43.71+ 0.00

TP delay [ns]

TVC(chh) (6, 11 6

1000

- Uz, 338e+06 / 18
b pO 4873+ 0.1
. p1 -44.67 + 0.00

TP delay [ns]

TVC(cbch) (6,11, 10

X~ 1z z3ve+U6 / 18
b po 4861+ 0.1
L p1 -42.49 + 0.00

TP delay [ns]

TVC(C b Ch) (6,11, 14

1000

X~ 1z z83e+U6 / 18
po 4901 0.1
p1 -43.1% 0.0

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6, 11 3)

- ow 2.4ve+U6 /18
pO 4939+ 0.1
- pL -44.77  0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

-1z /Ye+u6 / 18
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